2] 1T i =

H YR A bt 2 —

B ¥ 4 AE IR BUR TR
B T i b v 2 —
AFL# B S F34E6 H22 H FRIT10M
¥ &l % 3,993,000 (HEEB 363, 000F9 )
% AL EE Iy B IH. 2206 R T #R T 3-5-2

AR
1T # M AFN34E6 H23H ~ S4E2 A28
% FlL &8 3,993,000 (HEEB 363, 000F9 )
e SRE | AFN34E6 H23H
B4 E%E t e Bt AFLO E I B3 5 B 8 o MEIC XL D
M = Bt v — OB RIEE A RF O EIT 5 H D
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %

g H vE A R [ % & )

PEL ) — 3,950, 000[1]

W< >z 3,950, 0001

@%%ﬁ@%&t A — j:ﬂ&?g‘% 3, 850, 000

):l b )

AL 3,630,000/ [ % #L ]

R~ =

3, 780, 0001




H YR A bt 2 —
F ¥ 4 2 T SUSRE K B R E
B P T e v Z —
AFL# B RI3AE6 H 22 H FRIT10M
I Ml 1,936,000 (PNIEEB 176, 00019 )
WAL H B HRA 7 R T I H K BT 2-19-1
B 2T A
1T # M AFN34E6 H23H ~ S4E2 A28
% FlL &8 1,881,000 (PNIHEB 171, 0009 )
e SRE | AFN34E6 H23H
B4 E%E t e Bt AFLO E I B3 5 B 8 o MEIC XL D
M = bt o Z — K ALERER A 2 SR SO SRR O Y EEER &L I OV A2 28 D A AR IR 2 FEhi 9~ 5 B D,
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i =
ALWF 2R 1, 850, 000/
L U — 2, 200, 000[1]
FHETEM REEF 1,920, 000/
T 27 A 1,710, 0004 [ % #L ]

BRPEIREREE BRSNS

[ & & ]




HYBE4 TH B ASE
B ¥ 4 B ) 1E A 2 LA
B P i T 5 AR
AFL# B S F34E6 H22 H FRIT10M
F € i B 1,105,500 (PNIEEB 100, 50019 )
WL EHE Rk B IR B2 T 4RI BT 325
R A A1 1HB5
1T # M AFN34E6 H23H ~ SF3FE11H30H
B E&BE 1,031,800 (PNIHEB 93, 80019 )
e SRE | AFN34E6 H23H
B4 E%E t e Bt AFLO E I B3 5 B 8 o MEIC XL D
M = HEIE I2E 59 D AREEG A A AT H O
(AL EEEIL. HERIREDEREETY)
% PR - ]| %2 |4 % 3 |4 T
ITEs 958, 1001
=R [ & 3& )
I . R [ % 5& ]
2 A 5 938,000 [ % #L )
RtE 7

1,038, 500




2] 1T i =
HYEA B 2 —
F ¥ 4 7 L ARSI i s T
B P TR 2 —
AFL# B RI3AE6 H 22 H FRIT10M
I Ml 5,029, 2009 (EE B 457,200/ )
HALEH S U FERS T B T 5-9-1
B — B AR KBRCE ST
1T # M AFN34E6 H23H ~ SMAE3A3LA
% FlL &8 3,960, 0009  (FEE B 360, 0009 )
e SRE | AFN34E6 H23H
o4 B % T i HE 44 S A AFL OO E M B 5 B 8 o IEIC XL B
M = THT L= ROR T L— 2 OARSF i e ORISR 21T 9 o
(AL EEEIL. HERIREDEREETY)
ra r %1 [\ o2 [\ % 3 | i =

ALWF 2R 4, 000, 0001

=R TR [ & 3& )

@ﬁ*)‘%tx(ﬁi) kﬁﬁﬁ%ﬁﬁ 3’ 600, 000']% [ @ $L ]

(R 5 8% A [ & & )

FTEYT T MK 3,900, 000[1]

FRA T EE

4, 150, 000




